v v

VANTAGE

AVEVA
2004.11.5

v Pdms11.2
v

VANTAGE Plant Design

v
— 1,458 Cap screws
- 2,3,6,7 Stud

VANTAGE Plant Design

v
i ) K )
v
G ) W( )
PL P2
v
i ) K )

VANTAGE Plant Design

VANTAGE Plant Design



Dtref

I BIrf 1 [~ Blp
Bdia Btyp

VANTAGE Plant Design

— BLTAB Bolttable

— LTAB Length table
— DTAB  Diameter table
— BLIST  Boltlist

— SBOLT  Single bolt

WORLD

I |

[LTAB- | BLIST- |

fsBoLT- |

[ bTAB- |

VANTAGE Plant Design

v
v

BLTA /SH-BOLT-TABLE

LTAB /SH-LENGTH-TABLE
DTAB /SH-M16
Blength (70 75 80 85 90 95 100)

v

- 10mm

- 5

VANTAGE Plant Design

(SH Ansi B16.5Jff

v
- d
- t <=DN450 t=3,>=DN500 t=4.5
- e
- n
. <305 n=1.6mm
. 305~457 n=3.2mm
. >457 n=6.5mm
- h =3
v

VANTAGE Plant Design

HG ) \ 4

v
- m
- ?2C 4
- P
- n 2.85mm
- T1
v
— L=? C+mx2+Px2+n+T1x2
v

— L=?2C+m+P+n+T1

VANTAGE Plant Design

BLTA /SH-BOLT-TABLE

BLIS /SH-BOLT-LIST

SBOL /SH-STUD-M16 $*
Bitlength 32 $*
Xtralength 27 $* t+ex2+n+hx4
Nstdblength /SH-M16 ~ $*

- Nstd

VANTAGE Plant Design



BLTA /SH-BOLT-TABLE

BLIS /SH-BOLT-LIST

SBOL /SH-MACH-M16 &
Bitlength 16 $*
Xtralength 19 $* t+e+n+hx2
Nstdblength /SH-M16 ~ $*

- Nstd

VANTAGE Plant Design

v Bolt Item 10

SBOL /SH-STUD-M16 $*
Bitems NUT WASH WASH NUT
Bitlength 16 2 2 16
Xtralength 27
Nstdblength /SH-M16

SBOL /SH-MACH-M16 &
Bitems NUT WASH
Bitlength 16 2
Xtralength 19
Nstdblength /SH-M16

VANTAGE Plant Design

3. \ 4

v
— Creat>Detalil text
- Skey
CATA /TRAIN-CATA
SECT /TRAIN-BOLTS
SDTE /MACH-D
RTEX*
SDTE /STUD-D
RTEX*

v lsoTE-

RTEX (* , Str(Nstd of bltref))

VANTAGE Plant Design

4, \

v ,
— Creat>Material text
CATA /TRAIN-CATA
SECT /TRAIN-BOLTS

SMTE /BOLT-CS
XTEX ‘35 /25
SMTE /BOLT-SS

XTEX ‘35CrMoA/30CrMo’

kspTE-

VANTAGE Plant Design

5. Data set(Dtse) '
O L G
v
- , Design
— WORL  * =
! CATA  TRAIN-CATA
v Scom SECT  TRAIN-FLANGE
SECT /TRAIN-FLANGE ER -
CATE /CAFWBBO DATA  CAFVEED-DATA-PAZ
DATA  CAFVBBD-DATA-PA3
TSE /CAFWBBO0O-DTSE DATA CAFVBBO-DATA-PA4
DATA  CAFVBBD-DATA-PAS
[jo DATA  CAFVEBO-DATA-PAb
DATA  CAFVEED-DATA-PAT
SCOM /CAFWBBONN DATA  CAFVEBO-DATA-PAS

DATA  CAFVEE0-DATA-PAY

Dtref/CAFWBBO-DATA DATA  CAFWEBD-DATA-PLOT
DATA  CAFVEBO-DATA-ENGFF
DATA  CAFVEBO-DATA-EDIAN
DATA  CAFVEBO-DATA-ELTYP

DATA  CAFVEEO-DATA-D
DATA  CAFVBBO-DATA-SKEY _,;[
>

VANTAGE Plant Design

v ‘FLTH
DATA /ICAFWBBO0-DATA-PA5 5
DkeyFLTH Key
Pproperty( ATTRIB PARA[5 |) PARA 5
Purpose DATA
Number 5
Dtitle FLANGE THICKNESS Design

VANTAGE Plant Design



— Creat>Data Set

- Scom
- FLANGE
THICKNESS
FLTH

VANTAGE Plant Design

Tools>Category>Creat Dtse

Dkey

icix
e

T

e TN |
vetinivion [ommereion 3] i

¥ Display

Type [Distance 3]
Expr [( PARA(5] )

beteutt [o ‘

urrent Data Elements

Description Defau 4]
DATA[1] ~ APAR NOMINAL SIZE 0
DATA[2] ~ BPAR OVERALL LENGTH

DATA[3]  CPAR

0
FACE CONN TYPE o
F1 0

T

T D
DATA[7]  GPAR FLANGE DIAK
DATA[S]  HPAR HUB LARGE DIAM n_,d
A >

Scom

v Quick Report

Scom

Create a Quick Report E

Lol

Types scom
With
Columns  [name ‘diref’ diref

Hierarchy [os

TP e

Dismiss

VANTAGE Plant Design

¥ Quick Report

Create aQuick Report: i

o 4
File ¥ Tern
Types data
Vith
Colunns  [dtitle nane 'dkey' dkey
Hierarchy |ce
CRun ihe Bepors ] Disniss

- Dkey
FLANGE THICKNESS
FLANGE THICKNESS

VANTAGE Plant Design

FLTH
ICAFWBBO-DATA-PA5  FLTH
JCAFWBDO-DATA-PA5 FLTH

v (

Nozzle)

SECT /TRAIN-FLANGE

CATE /CAFWBBO

SCOM /CAFWBBONN
Blrfarray /CAFWBBO0-8-16

BTSE /CAFWBBO0-8-16

- : DN100 150# RF

(BIrf)
s ,8

8 M16

FLAN COM ~CAFWEBONN
Owner <CAFVERD
Ptref /CAFVBB0-P2-2
Gnref <CAFVEBD-G4-5
Dt.ref /CAFVBB0-DTSE
y_/CAEW

VANTAGE Plant Design

v Btse Scom

Category

VANTAGE Plant Design

BTSE /CAFWBBO0-8-16
BLTP /CAFWBBO0-8-16- 1
BLTP /CAFWBBO0-8-16- 2
BLTP /CAFWBBO0-8-16-3

BLTP /CAFWBBO0-8-16-8

VANTAGE Plant Design

Bolt Set
Bolt Point




BLTP /CAFWBBO0-8-16- 1
Number 1
Bdiam 16
Bthk (Param 5)
Btype BOLT ,BOLT

- Cap Screw ( ) Bthk
Bthk=0

VANTAGE Plant Design

v s PARAS
- Bthk (Param 5)

76.2 OVERALL LENGTH
FBE FACE CONN TYFE

2

3

4 BYD PIPE CONN TYEE

5 24 FLANGE THICKNESS

3 114 PIFE OUTSIDE DIAHETER
7 229 FLANGE DIAM

8 135 HUB LaRGE DIAH

9 27 WELD SYMBOL DIAM

- Bthk (Param 7)

114.3 HALF FACE TO FACE
FBE CONN TYPE
S&4 HANDVHEEL HEIGHT

229 FLANGE QUTSIDE DIAK

2

3

4

5 254 HANDVHEEL DIAM

6

7 24 FLANGE THICKNESS

v ..PARA?

VANTAGE Plant Design

A B L G
v (BLTP)
- Number 1
- Bdiam 16
- Bthk (RPRO FLTH)
- Btype BOLT
v
- Number 1
- Bdiam 16
- Bthk  (RPROFLTH)
- Btype BOLT
v )

VANTAGE Plant Design

¥ Quick Report
5

Types bltp

Colunns  |name 'Bthk' Bthk 'Btype' Biype

Hierarchy |c=

CHunFhe Rrporh Dismiss

VANTAGE Plant Design

v
— MACH machine bolts
— STUD stud bolts
— CAP  capscrews
— JACK jacking screws
— TAP tapped holes
v BOLT
- Bolt
- Bolt
- Stud Btype Stud
- Bolt Stud Btype Stud s

Bolt

VANTAGE Plant Design

v Cap screws Stud
— 1,4,5,8 Cap screws
- 2,367 Stud

VANTAGE Plant Design



v Btype Bolt Cap

VANTAGE Plant Design

- ScOM AR Vot
hee Para 4 1.1/16 6.3/8 WARL 6.1/80.1/4
Para 49015116 012 BAD FAR 0,518 6.1/4 1215116 0.1/4 0.3/4 4
it Bt Plref P76
Gmef 1GF 1
Boliref /PB1 Smref 1Gva3
| Boliref /PB7
|
|—> BTSE PB1 |—> BTSE /PBT
BLTP PB1-P1 BLTP PBI-P1
Number 1 Number 1
Boiameter 0.5/8in Bdiameter 0.5/8in
Bihk PAR 3 Birk PAR 7
Biype BOLT Biype CAP
BLTP PB1-P2 BLTP PBI-P2
Number2 Number2
Boiameter 0.5/8in Baiameter 0.5/in
BINPAR 3 Bink 0
Btype BOLT wpe BOLT
BLTP PB1-P3 BLTP PBI-P3 (as P2)
BCTPPBI-P4 (as P1)
BLTP PB1-PB
BLTP PBI-PS (as P1)
BOLT/CAP

v Bdia+Btyp
HEADING
TYPE  NAME BDIA BTYP  CATREF DETAIL MATXT BLTREF
DEFAULTS
- - STUD

BOLT “/BOLTSK 0.1/2 STUD  /BOLT1 ISTUD /A193-B7  [SS-FAMS-K
BOLT *BOLTS:M 0.5/8 STUD  /BOLT1 ISTUD /A193-B7  /SS-FAMS-M
BOLT  “/BOLTC:M 0.5/8 CAP /BOLT1 ICAP IA193-B7M /SS-FAMS-M
BOLT  *“/BOLTS:W 0.5/8 WASH  AWASH1 /WASH /A193-B7 =0

BOLT *BOLTS:Q 0.3/4 STuD  /BCLT1 /STUD /A193-B7  /SS-FAMS-Q

VANTAGE Plant Design

v
BIrf

v

v
- P1 Dkey
- P2 Dkey
- P3 Dkey
- P4 Dkey

VANTAGE Plant Design

FLTH
FLTA
FLTB
FLTC

Blrfarray /DAASBQJ-24-39 /DAASBQJ-28- 45

v
v
— Tools>Bolt>Copy bolt set...
S

= ~List Bolt
[/CAFWEBOFF /CAFVBBO-4-12 B
412

Wunber 6
Bdianeter[ss
Vot existed!

ew Bolt/Set Blxe|

To

-2
/CAFVBE0-12-24
| ChFvEBOWY CAFVEED-12-24
L

Copy P1| Copy P2| Copy P3| Copy P4| Tidy Bolt| Cancel

x______J
VANTAGE Plant Design

VANTAGE

¢ A ' G

v

NEW SPEC /BOLTSPEC

HEADING

TYPE NAME  BDIA BTYP CATREF DETAIL

DEFAULT

- - - STUD
v Bolt

- Bolt

- Stud Btype Stud

- Bolt Stud Btype Stud ,

Bolt
- s Bolt,

VANTAGE P esig





